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A





The graph of line p has x-intercept (-3, 0) and y-intercept (0, -6).  The graph of line q has a slope of 1 and crosses the origin.  Which coordinate pair names the point at which lines p and q intersect? 





�


A)   (0, -2)





B)  (-2, 0)





C)  (-2, -2)





D)   (-3, 0)





Yesterday a total of 24 students were present in Alfred’s class.  There were 3 fewer girls than twice the number of boys.  Which system of equations can be used to find g, the number of girls who were present in Alfred’s class yesterday, and b, the number of boys who were present?





	A)  � EMBED Equation.3  ���





	B)  � EMBED Equation.3  ���





	C)  � EMBED Equation.3  ���





	D)  � EMBED Equation.3  ���








A





B





B





C





C





D





D





A





A





A water distillation machine can produce 189 liters of water during each day of continuous operation.  The graph shows the rate at which the machine produces water.                               �


If the machine operates continuously for 3000 hours, what will be the total number of liters of distilled water produced?





	A)  11,907 L


	


	B)  23,625 L


	


	C)  47,250 L


	


	D)  70,875 L








The graph of the function � EMBED Equation.3  ��� is shown below.  If the line is translated 3 units down, which function will describe the new line? 





�





A)  � EMBED Equation.3  ��� 





B)  � EMBED Equation.3  ���





C)  � EMBED Equation.3  ���





D)   � EMBED Equation.3  ���
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B
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D
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The area of a rectangular floor is described by the equation below, where w is the width of the floor in meters.  What is the width of the floor?


						� EMBED Equation.3  ���








	A)  12 m		





	B)  14 m





	C)  16 m  





	D)  21 m








Which equation represents the line that passes through the points (6,1) and (-2,-3)?





	A)   � EMBED Equation.3  ���





	B)  � EMBED Equation.3  ���


	


C)  � EMBED Equation.3  ���


		


D)   � EMBED Equation.3  ���
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